BERE - &%

74 HHROEE

JEf| BERR | FHR OB A 700
&
) 680 ‘/‘/‘\/‘

£ 61.4 66.0
118 ®| 776 | s
ol = W 76.6 62.0 M‘
3| W i 748 | &2| 600
4% B 74.2 0.0
5 0 Fx W 74.2 T2 17 22 27 £T02
6 & F 742 | @ | e =21
N B 73.2
8 x B 7341 e
o= = 724 | #at T —% %
10 & Ee 71.2 3 w#EE| £ H F #EE | £ H
" #% = 71.2 FRR12 67.9 61.1 || FRk22 69.2 61.9
12| & L5 710 | ® k17 68.5 62.1 || SERR27 66.1 62.3
13| Bf =3 70.6 S 2 67.4 61.4
140& I 70.2 _ _ _ _
15 % W 70.1 B H [ S
16| & 1R 69.7 ES 35.6
17| & 5 69.6 1 [ i 495
18 & F 69.6 BREE 2 |&| = 491
19| 1l ] 69.4 (%) 3 |18 fiF] 44.4
2008 W 69.2 | ® ELEEN 5 = B 29.7
21| 45 PN 69.2 45 |18 # 228
2| " I 69.0 [T ETFHRETEZI]| 46 [FX H 216
23 15 & 68.4 _ 46 |= 1l 21.6

H_H IELL] ZRE R % &

25| 8% M@ 672 | 2ETH 4,189
26| 1L m] 67.1 REEESEENRE 1T’ = 8,806
211 @ 66.5 (1M A33m%t=Y) 2 | = 6,258
28| & E 66.4 (M| 3 [ # 5,988
29| @ i} 66.1 [CElt:3] 33 & 5 3,658
0 #H X 659 | |(RBETHSEFEHEERI] 45 B HF 3,361
I 65.7 | 1 |xmamermatcoRERE| 46 (B 0B 3,348
R2E 1B 64.9 415 & 3,163
B E E 64.8 B H BRI BEFR| EIFH
¥l FOE 64.7 £ [E| 860828
B ERE 64.6 1 |E =| 135382
36 K 7 635 |z |FREEEIFH 2 | XK R 73,776
378 K 63.1 (F)| 3 |# Z= I 67,197
3 W 6138 Stk 26 =5 & 8774
39| I = 61.6 [EL3mETEEEIHEI| 45 (8 B 2,798
40 F 60.3 46 [& &0 2,688
alE W 59.6 47185 W 2,557
42| 8 = I 59.4
43| it B & 56.4 AR B AT ESRERR)
4 X K 550 | |.maEsa afes0818
45 1@ fif] 52.6 EEEH 5
46| 1B 464 |z | -z HERICEC —REEN EEICEO— R EY
47| & = 46.1 BE HLRIEE. FTITBELTOAHEATELTOAEEENS,

-74 -




75 —FETHEEICFCHFOIE

BRERE 22

| g | T PETEEIS o
IRt MERR o wwnza 800 |
(%) 4| 750 |
% 53.8 ‘\‘\A\‘/_‘
700
K H 80.7
2l 769 |g| *°
3| E ] 76.6 600 -
45 & 76.2 '\.\.\.\.
5 1& H 75.8 550
6/ #0 Fx W 750 | & |
1% @ 143 | % SO'OQF
8 I B 73.6 00
9 B 734 F12 22 42 &
10& B 733 —en
W= = 232 1® | -8R =28 |
12| & F 73.1
13 722 HatT—5 o
14 71.2 6
15 g ;E 711 | # E (L [
EEIE it 753 2
LLE . .
- Y
200 B 701 S0 2 70.1 53.8
21 &= =3 69.1
2/ ) 69.1 _ _ _ -
23l|®m A 68.7 B H EfL] #BE AT IR & %
24| F JIl 68.5 S 3] 15.55
258 IR 68.3 TASEYBEZDEH IIE H 19.01
2 EREB 68.1 | M |(FEREE) LR 2 | 1] 18.53
27| W m| 67.4 @ 3 |m 18.19
28/ % R 66.8 CaAREN 20 2 B 1642 |
2% B 666 | . (eBarEe tbsit@mll 45 (K K 14.11
30| @ 1 665 |~ 46 |l = 13.95
31 % 66.0 _ 47 | 8% _13.38
2 E 53 65.6 B H B | #B:E TR g
3B A 635 | ES 10.27
K2 N X 62.8 TASEYEREEDEH 14 ' & 12.03
3B E W 55.9 (ERES) (#BR) 2 |15 1112
36| s =] 55.8 B 2 |5 bl 11.12
3 m # 554 | & CaexlEal 25 42 B 1033 |
B H E 55.3 [salEs- TRz | 45 (B8 K 9.57
39| 4t iE E 52.8 46 (e R B 9.54
40 F 52.7 47 [ 13 8.76
k- 3] 52.0
42| & & 50.2 BT AT ESRERR)
43| fa i 440 | ¥ | -BEEHS SH2E10818
44| @ = I 420 EEE 54
45| i b 40.7 CEHAE: —FRTICED — RS RO — RSN
46| X B 403 | B | -3z 5RgELE. BEOBWEFICRTONAEET. EH. £S5,
47| ® = 28.6 FHFLEEBIEAT 5101 RIBESNE B DENEE,

-75 -




76 1{EHLY-YHEEENHEE

o s | THETEHREY KWh
WRLr MERR wrgnuBE 6,000 T
v | B
2ECGH) 4,193 5,000
5,200
1148 # 799 | o
2l B 1] 6,998 4,800
3l&m 5,951
4 & =) 5,879 4,400
585 1R 5806 | =
618 = 5,705 4,000
7| W i 5,291 o
=
g Iz ﬁ g:(])gg o Frkog 29 0 BHT 2 gy
o= % 4871
PR 4816 |y kWh
% @ 4791 F E EEE £EGE)
P ' T R28 5,106 4,380
15| X 7 4,773 FR%29 5,508 4,554
16/% 4749 13 SE 30 5.060 4.327
17/ B 4,736 pN— : :
S A0T 5,091 4,051
185 4,675 &7 2 4,836 4,193
19 88 K 4,648 - — :
20| # iz} 4,636 B H gL | BR[| EEHEEE
21| [ i} 4628 2EGE) 1,970
22| & F 4592 1 |18 #* 3,092
23 |/ #B 4588 | eg 2 |E W 2,856
2 & B 4,563 TASYHEBHES 3 |fE B 2,699
25 & 4 4,494 QU] 26 & & 2056 |
26| s = 4,455 45 |3t i 1,700
2711 & & 4424 | & 46 | & &= 1,622
28 % B 4,420 _ 47 |F EF 1,602
29 = 5 4399 B H NEL | #RE AT IR 2 &
30 £ & 4,366 EE 8.4
31| & 3] 4347 = 1 |5 & 13.0
32| & B 4,341 BkEe kKEBEOZHES 2 | i 12.0
33| K B 4,283 (ZALED 1) 3 |& =+ 11.1
M ERE 4,166 N 7 & B 99 |
35/ 1L H 4134 | (RH4EE)| 43 |f = I 7.2
36| 15 PN 4,057 o 43 |18 fif] 7.2
37| & x 4,056 [faFsaTHSEFEREEEI]| 43 | K 7 7.2
38| 1 = Il 4,020 XEGERFRFFRAER TOREHRE | 46 (& = 741
39| #0 Fr W 3,935 7|5 & 6.0
057 W 3,932
41| 8% 5 3,867 CERHEET BAEE A ERT AL E— IR R B TR L — B
42| 4t B & 3789 | g | -BEE A SHEE
43| b 3,731 RERY B
44| 18 fE] 3,658 EHA EHHEEE (RE)
45 K I3 3,480 HRAEARAEHEHSIE B 1BRE)
46 + = 3418 | B | memonmianEmeoBn b2 LtOEEALT
47| | = 3,406 HHLTLS,

-76 -



77 ENAIIRKRIEFERE

BRERE 22

N ” .
JEfz| ERERFIR E/%4 }l’;ﬁ%{ 98.0 0
) Bl g0 | ././-/'/.
£ 975 96.0
. = 5 950
1| B 100.0 |
2| W =] 99.2 940
3|/ K 989 ||| 90 r
3 B 98.9 920 |
5| # = Il 98.7 00 T
6| & % 98.6 (2] TR0 ST 2 3 4 5
T1TER B 98.5 —A—EEE B2
8 = i} 98.3
8 & % 983 | [ #ET—% ) %
8 & 98.3 E | BBRE| 2 B & |BBE][Z2
M 98.2 ERk30 | 941 957 | 5% 2| 954 968
"a 982 | ®| 'S5t 953 96.1| 51 3] 965] 973
mx 982 SH 4] 960 975
[RIIRC . 98.2 _ _ _ _
15| i# i 98.1 B H NEGL| &8 fF 2 B
16| & 1R 97.9 ES 84.9
1711%F Nl 97.8 1|E = 90.4
18| &= B 97.7 2 |&= B 89.7
19/ # K 97.6 1o5—Ry FIREDESE | 3 |F E 89.4
200# 5 975 |®8 o) I T
200 & 1B 97.5 45|15 H 75.2
22| F = 97.2 46 |k H 74.9
2 E E 97.2 _ 47|15  F 73.8
24| 1@ fi#] 97.1 B H NE iz | #RaE AT 2 TRE
25 4t i 5E 97.0 S 69.0
2515 B 970 |& 1|8 ® 79.4
25| K 7 97.0 2 | = 79.0
28| B 96.9 YRR 3 |= ] 78.1
29 % 4 96.8 D) 32 2 5 643 |
0= & 96.7 45 | F 547
30| s 5 96.7 46 |BE R B 51.2
K= 96.7 | 4a11E H 51.0
33 & WL 96.6 E H NEfL| 458 IR TRE
34| 1% x 96.3 S = 90.1
35 5 B 96.1 11’ = 95.2
36 1@ 5 96.0 2 | = 94.5
37| [ ] 95.9 3 (B 5 93.6
38| LU i 95.8 R | A=A HEERE 3 |E% fif] 93.6
@ A 9538 ) 38 2 & 846
40| 1L m] 95.4 45 F 82.6
41| 13 #* 95.2 44 |5 b3l 82.6
42 B B 95.0 46 |FX H 82.0
43 & K 94.9 4715 & 81.2
4| = F 94.6 AR MBEDRENADERE)
45 F E 945 |4 | -BEHA STEsAE
45 1 W 94.5 -RERYBF
47| ® H 940 | E | -3F EAVBREEEEE. RX—F T2 035 1AL EELS,

5. FH2FEUREPHSEZ

-77 -




BERE-RE

78 FEKLBAOTRE

: n %
e wunem | KSR alm
90.0
(%)
& 929 | g | 850 ,/.—/—-”"’"

__ 80.0
1% 3 228 ||
3 HE 99.0 00 -
4| = 5 986 | o TS0 BT 2 3 4 g
5 f 2= JI| 98.4 [ +-ERE & 20 |
6| K IR 984 o
1R B 983 |# s s .
sl = o 977 F E | EeE | 2 H | F E (B2 | 2 H
9 ;; 3 97'4 T RE30 82.8 914 | %0 2 84.6 921
10 j? = 96.3 %| [&mx| 837] 9174 3| 853| 926
1B B 95:8 =F0 4 86.3 92.9
1208/ N 95.2 B B NEGL| #5382 L RE
13| 18 iEl 94.3 ES 81.0
14| 14 i 94.2 1 |& = 99.6
15\l B 94.0 TAREMBAOEREGE | 2 |[# &= ) 97.1
16| % E 93.7 (%) 3 [X R 96.8
17132 933 | M (SFaEER) K 5 55.4
18| & 0 928 (E+ 3584 T EE AR - B2 45 |5 3 41.7
19| &= B 90.8 FEmEAng =) 46 (1 I (L 295
20 F  FE 90.6 47 |18 193
21| I& 5 90.3 ] G| #REFR ] UHAOILER
22| # F) 89.7 - S = 77
23| 1L m} 895 | = | FKBiRIYAIILE 1|5 HR 100
24| BE ¥ 89.4 )| 1 |& bl 100
25/ K 89.3 (SFRBEER)| 1 | =& 100
26| Fk H 89.2 XIBRFEREREBR—IADE 1 K o 100
2718 I 89.2 (EL2EH
28| = eSS 89.0 - &R IR F—EROMKI 45 |& B 29
29| 1 88.6 46 | E & 22
30 i@ 87.6 47 | B 20
3 & W 87.4 B B JE iz | %R AT IR LT RE
32| & B 87.0 ES 98.1
33] 1 4 86.3 1 |& = 100.0
34 18 5 86.3 E=RESER-PiES 2 |K B 100.0
35 & ¥ 84.9 (%)| 3 [ i 100.0
36| 8% m 84.9 CEPEIEFI) 41 2 B 940 |
JNERE 84.8 [EEFBETEEMATE]| 45 [FL H 91.8
38| B 5 84.2 46 | K 9 91.7
= 83.6 478 & 88.8
40 2 1B 83.0 BRI BAKES - ELBY BEY
41| B R 83.0 5K A Q& RIKRIZONTI
42| & #* 823 | 4 | B HAMEER
43| K o 81.8 CEERY:BE
44| F | 81.1 E)EKBADERE | RUTFAKEREAOEREICETEEER
455 77.9 O, BEAAKEKOEEIKYFAFHEAET CKAET, WEAT) %
46 F1 I L 694 | E| murmscss.
47| & B 67.4 13, ERI0EEETIIIEIER . SEEAT. RITAT. BREEH . SHTEE

ETEBRAAAEFELTAHICEEN S,

-78 -



BERE -T2
79 THDYHGAH)LE

ol gmrme | S B D %
(%) | &
0o r B— g o B =u
2 19.9 200
170

1] W m] 325
2B H 285 [®)| w0, L .
3w &= I 247 o &
4 &’ = 244 :
5/ X 242 | o 30 |
6| fif] i 241 | s
714 B E 235 00
8| F = 227 FERE29 30 ST 2 3 FE
9 & 226 | g, [ +men = 2@ |
1002 223
11E W 223 —
2lE | 208 0
13 % 207 | 4 E & mER z B
148 R 205 29 133 202
BE & 20.4 FEH%30 12.9 19.9
19 & A 203 I 12.7 19.6
171185 1R 203 | % &30 2 13.2 20.0
18 8% & 202 EYII 133 19.9
19= = 20.0
200 = 19.8 _ _ _
21| & ) 19.4 B H IBHL| &R E AT IR HHE
22| &% it 18.7 S = 890
23| K ol 18.7 = ] 1,032
2| E & 172 |®|caniAiBRyn
A8 F 17.1 HHE 3 |1F = 1,002
26| i# i 171 (e~ NB)| 45 |i# E|: 809
27| Wy ] 166 | ;& 46 | % 800
28 18 5 16.6 _ 47 |58 #B 775
29Kk & 16.3 B H JEfz | #R TR [IEEES
0| B 163 | £ HE 99.1
I 16.1 | ¥ [canomsnms 1l K 100.0
RIERE 16.0 (%)| 1 (W Zd 100.0
33| & B 15.8 3 & & 100.0
34 7 B 158 |4 || ERa@mcE-mzmas
3BIHE K 157 |~ RIS O R 2 45|85 IR 97.1
36| ® W 15.7 CanEg 46 [F & 96.8
3NE E 15.4 47 |4 & 8 92.8
8lH/ I 15.0
39| X H 14.6 AP B EAT — RREE B E R
40| ## 5 145 B S DHER
“EFE 142 |4 | -Bmaem e
2= 8 13.9 AR EEERCETRLEREEN AR EAERE
43| LI i 13.7 CHNEE+ EFMEINE
45 18 H 133 | &
46| X B 13.3
47| %0 B W 13.2

-79 -



BERE-RE

80 1 AY-USMTHAEERE

- s |1 AE Y i

"LE{_L %ﬂﬁﬁ;ﬂr %I-SH_T/A ﬁ*ﬁ a0 ¢

(m) | %
& 10.27 130+ /

114t & & 2724 120
2l 1920 | & 110 ©
3= Ik 18.19
4= I 17.86 100 g w—=— &%
5 Fk H 17.82
6 &F JI 1707 | & 90
1% = 16.96 T
8|5 16.73 00 e
98 R 16.19 Fh29 30 HEm 2 LR
100F W 1605 | o | - EER =2/ |
118 H# 15.78
12| [ i} 15.42 —
3L 0 15.28 -
14| #7 ;k 1474 | # " & ERE = =
15/ % % 14.21 T2 12.04 985
16 & i 13.85 S R%30 1257 9.95
17 = R 13.78 SFT 13.10 10.05
18 2 5 1373 | # =3 2 1342 1012
19 il 13.69 %0 3 13.64 10.27
2008 F 13.44 _ _ _ _
22| & & 13.10 B H JEfL | #RaE AR NEES
23 ERE 12.21 ES 92.29
24| B 1 11.76 11 = 599.17
B E & 11.21 | B |#p A Es 2 | =) 523.06
260 & 3] 11.00 (AM{E b EFE100kni 25 7=Y) 3 |X B 520.66
26 K 9 11.00 Gpl 42 2 B 2898 |
28| & 1= 1070 | 45 [l 3 22.24
29| & g 1057 | = 46 |1& =) 19.71
0| B 10.42 _ 47 |f M 18.96
30| i b 10.42 B H B | &8 T2 NEES
32| 1L 4 1009 |4 ES 73.96
KKIEE . 9.89 11 = 469.99
¥ = = 9.79 HRAREK 2 |f = I 44401
35 1@ fit] 9.26 (¥ b EFE 100kni 24 7=Y) 3 | K [ 427.04
3| #& K 9.14 | & Gl 42 &8 & 1915
37| &% iEl 8.85 45 |FR H 13.39
38| BB ¥ 8.56 46 LU Rl 12.91
39| #0 Wy 8.31 47 |{& =z 11.09
40| & b3l 7.91
4 E B 772 CERHHTT BB AT R R
42| ;| #B 766 | g | -BEEASHEE
43| 1% x 7.17 RERS BE
44| T ¥ 6.92 B AEAREE A OB
45 2= )I| 5.74
6] X & 573 |
47| & = 434

-80 -




BRERE 22

81 1HFLULYERARAEEREH

o o THELLYER &
&) |
S 1.025
1 f& ¥ 1.698
2l E 1 1640 | B
3| i 1.635
4 3% 5 1.585
5 #h 7N 1.563
6 & B 1549 | &
1% W 1536
8l B 1.530
¥ wEL 2 8 ‘EE
100#% 8 1513 | @
11| 1L 3 1.507
121 = 1.490 —
13/ 1462 et T —% &
14 5 By 1439 | # FE EER & F
15| = E3 1.430 F f&30 1.558 1.052
16 & 1B 1.390 ST 1.548 1.043
17 & F 1.381 S 0 2 1.543 1.037
18| X H 1367 | % S 3 1.535 1.032
19| &% f#l 1.363 = 4 1.528 1.025
20| & =) 1.344
211 @ W 1.343 _ _ _
22| i# B 1.338 E H BRI HEFR| REEH
23| & Il 1.322 ES 4923
24 B2 K 1.297 LIE:: 5 7165
250 4 48 1284 | ¥ |BRARBAEREEH 2 1R K 697.1
26| = =3 1.275 (AAFAHFY) 3 & 692.6
211K % 1.270 ) 8 & B 6693 |
28| ® W 1255 | 45 |# = 1| 3320
29| 1L A 1236 | = 46 | K 57 316.5
300 A 1.232 _ 47 |/ = 223.9
31/ #1 3 W 1.222 B H IERL| BEFE| BREAHK
32| F #* 1214 | 4 ES 657.4
B ERE 1.180 1 | Rl 947.2
4B I 1.132 BBERAEEHK 2 B B 939.2
3B E 1.127 (ANOFAHF=Y) 3 | E % 938.8
36| & & 1103 |1 ) 5 & 5 9089
37| i 1= 1.095 (SF5a3AF)| 45 |# 3= JII 441.1
38| & B 1.072 [(—B) EHERESRIERGS 46 | K PR 435.0
39| 15 5ol 1.045 TEERRT - BENEEA MR 47 = by 319.7
40| Jt i E 0.993
4 F  E 0.940 BRI (—B) BB ERERREENS AN EREEHR AR
42| 1% S 0933 | g | -AEHA: HHSEIAR
43 & & 0.890 -RERAY:EA
4" H 0.796 EHA EEGEIEECT |
45 2= )I| 0.678 ERERAEHSR(STSE F1BEE)
6] X & 0623 |
47| & = 0.416

-81-



BERE-RE

82 HEEER
I BERE | BB EEE km km
39,2000 1 1,222,000.0
(km) |48 | 39,1000 | .
S 1,220,138.4 __|m]| 4 12200000
39,0000
11 & & 89,899.7 389000 | of 1 12180000
3E ;| aoaeo ||
4E B 47,7996 387000 1:216.0000
5| % S 47,2942 38,6000 |
6| F ﬁ 40,9495 =1 385000 | 1 1,214,000.0
R=C =
82 M@ 37,770.0 00 - ‘ 00
9 % B 37,3015 FRR29 30 31 @Az 3 &
0% M 36,7982 | @ | coEBR =2 |
ME E 36,525.5
2% & 34,831.7 —
135 F 33,317.3 HEtT—4 -
- I —— 1 —
. - k29 38,842.2 1,215,091.4
16| & - ‘% 28,894.6 k30 38,883.1 1,215,842.7
7ERE 27,351.4 31 38.952.6]  1.217.4685
18 B8 K 26,1104 | # %0 2 300248 12186977
19 4 3= JIl 25717.9 £7%0 3 30.1240] 12201384
20| 15 7N 25,4334
208 W 25,379.6 _ _ _ _
22| = 2] 25,293.8 1 H NEHL| &BE AT IR S
23| & = 24,3735 ES 60.5
24| F iz} 237114 11K R 75.1
25 "5 & 20,0870 | B 2 1A 73.9
26 = 1% 20,027.0 BER 3 it & & 73.6
211 K IR 19,707.4 D) 27 & B 594 |
28| K 7 184598 | 45 |4& & 455
2 B IE 182477 | = 46 |& B 445
308 1R 18,167.7 _ 47 % B 42.2
I 18,0334 B H ERL| B BEES
32| 1L i 16,6983 | s ES 62.6
33| W m] 16,519.7 1lX IR 79.0
= OB 15,688.7 2 |=E 1] 78.9
35| & g 15,243.8 WRE 3 |F JIl 76.5
%6 m 142391 |2 & 0 &2 & 609
37 = i 13,933.2 45 |0 ¢ W 48.2
38| #0 I L 13,781.6 46 |18 B 474
9AFE I 13,140.8 47 1% W 43.7
40| &= B 12,780.4
41| 3% = 12,499.0 AT B 3E A T 552022
42| 1L - 11,1476 | 4 | -BESA: SHIEIA31E
43| & g 10,972.6 CEERY:BE
44| 18 H# 10,896.1 ‘BE ERELERSER(BEEDHEEBEZRO OREENSERAER.
45 F I 10,229.2 REPAERRCENEEERVEERENS,
46| B R 8,938.5 £ ) EBROMAFECEVTIE. RARAKEKEOEEICKYSIFIR
47| b} 8,173.1 BIBDOEHT—RTEoTWEWNRA D HELISBET IRENH D,

-82 -



83 TEFEHMRBEHH(AOI10FALERY)

BRERE 22

| s e L
i R VR re) I
#® | =
S 240.8
3000 r
118% H©E 521.4
2| B 5 5124 | &
3t & 404.2 2000 ¢
4 & fif] 3884
5 I 361.0 1000
6 &F JI 3366 |2
1 E bl 317.9
8 & & 303.1 00
9| K B 2905 SERL30 ST 2 3 4 &
00 # 2853 | @ e —
HE B 2784 #BE D2
iy 251.7 —
18 & 235.2 BiET 5 o
14/ W 2335 | # = EEE z =
15 # 3= Il 2285 T30 246.4 3405
6 & x 225.9 SHIT 212.3 3022
171% 220.8 =% 2 1782 245.1
18| E 2149 | ® %0 3 165.4 2432
19| F = 211.0 =% 4 150.9 240.8
200K » 205.1
IR 2035 _ _
22| # = 203.1 B H JEfL | #RaE AR R
23| 5 x 203.1 ES A4
24| = B 199.3 11 = 9.3
B ERE 197.6 | ¥ | @SR En g E 2 1= & 7.2
26| & F 197.3 (XFRT4E) 3 | &k B 5.8
271/& W 192.0 O] 42 &2 &  A98 |
28| b} 189.2 " 45 | &= B A 114
29| RE N 1848 | = 46 |FER B A 126
307 W 180.6 _ 47 |z s A 14.9
31 A& I 177.7 1 H B4z | #BE T2 BEER
20w A 1722 | 4 ES 44.2
33 = S 167.5 TR 3 RE AR S 5 1|2 1] 65.6
34| 4t B & 164.5 (AOFAHEY) 2 |1F 64.8
3B B IR 163.2 ()| 3 | & 59.8
& 5 1563 |1 Gkl 26 2 5 304 |
37| #1 Ll 153.8 45 (& Iz 20.7
38 18 & 150.9 [(BATHEETREEEI]| 46 [ E 18.6
39| M 149.4 a5 & 177
401 B 148.8
MlE @ 1395 CERHHT SRATSREAE | WBATADE]
4208  F 1279 | g5 | -WEES: S04
3 H B 126.7 ‘BERS aF
44| 18 #* 124.7 SR AR RENS ADST4AEI081 BT
45/ % M 124.4
46 B 1R 164 | &
47| B By 109.9

-83 -




BERE-RE

84 THEEBHMEEHR(AA10FAHTY)

Bl aappe | XBRHEEY
IRt HERR | X 0105 ALY 50 A
(N & L
% 21 49
40 r
1| [# i} 40
2 I B 39 |eg| 30T
k1= b3l 38 30 |
4 F JI 3.7 )
5 1@ i 3.6 25 |
6 &K H 35 | g
1=z & 34 | 20 |
8| & ﬂ;‘:ﬁ 34 00 T
9 E 3.3 T30 D0 2 3 4
0# B 33 | TR0 SRE *
TE I 32 | e =2 |
12| & F 3.1
148 A 31 HEtT—% x
5E Ik 30 |*# = BER =
16X 7 2.9 F 30 40 28
e =" 29 SR 33 25
18 %ﬁ' 57‘% 2.8 »%*u 2 31 23
9% ®H 21 | B £%0 3 2.7 2.1
20 kRS 27 S 4 26 2.1
21| Iis =] 2.7
22 #1 L 2.7 _ _ _
= 6 I H B | #B:E T2 RSB
24| ¥5 PN 26 S = 2875
25 F K 2.6 1B ®| 662.9
26| 5 W 26 | M |REEMIEGEEYR 2 B B 633.5
27| 1 i 25 (AO10B AHT=Y) 3 |1& = 529.6
28| B =5} 25 O8] 39 1= 5 177.6
28 iR 24 | (SFasE)| 45 |18 H# 144.8
30| LU m] 24 | 7T |pBaTassEmatieE]| 46 |B HY 129.6
318 ®E 23 _ 47 | 129.5
32| i 2.3 B H JEGL| #REFR | SEiEEE
B 23 | ES 119.4
34| 4t & & 22 1 E B 131.0
B E E 22 RBEBIEGER 2 | IB 128.1
36| &= B 2.2 (ZBEH 100442 7-1) 3 |18 A 127.6
37| & 1A 22 | O8] 31 = & 1177
38| F E 20 (SMaEE)| 45 [ = 111.2
9AFE I 20 [#FsATHREFMREEI| 45 B 4 111.2
400 % AN 18 YRS ! 109.9
4= | 18
2= b4 1.6 CERHE EEATERAE) . ABETAD#
43| K B 16 |4 | -z A SHaE
4" @ 1.5 CEEEH EE
45| 1% x 1.4 CEHEE RBEHIEE Y AO(ST4E108 1 BEAE)
46| # = Il 12 |2
47| & = 0.9

-84 -



BRERE 22

85 HMHEH(AA1AAHETY)

Wt R | KR f
3.60
) =
% 2.88 340
3.20
1NXx % 493
2l A 453 |g| 800
3 W m] 450
48 1B 438 280
5 & [ 4.34 260
6| 1& i 406 | g
7| & ¥ 399 || 240
8% = 390 NS ‘ ‘ | |
" ﬁ i 3% FH SRR 2 3 4 oz
@ 3gs | ® | A Eef =20 |
12 I 3.84
13| % W 3.77 —_—
14) F1 3 1L 376 |, fatT —4 "
15 R % 3.73 3 EEE 2 5
16 & & 3.57 F 530 3.29 297
17| & 3 353 =7 : :
ST 3.46 2.96
18 5 o 3.50 = 2 2.62 2.73
©s Z 346 | P 2#l] 3 322 278
T . .
20 % 5 3.3 =0 4 3.09 2.88
IR RS 3.29 - : :
2/ % H 3.28 _ _ _ _
23| & 5 3.19 B H EfL] #BE AT IR AE
24| B 3.18 £ H 1.15
25 4t & & 3.16 115 HY 272
26| ks 5 314 | H L H 272
RIS BIEEH 3 |5 & 2.41
28| % & 3.03 (AO10FA%T=Y)
2 F = 290 | (M| 45| = 0.65
30| = 288 | & 46 | K R 0.60
IR & 2.86 _ 47 |9 = )| _054
32| & F 2.83 B H NEfz | a8 T2 B
BE B 282 | g ES 20,167
Ml mE M| 2.77 11’ = 2,859
3B F B 2.70 2 | K IR 1,272
36 L 2.69 BN 3 | = I 1,175
3E W 259 | & G 21 &2 B 309 |
38| # fif] 248 45 |8 w 106
39| & g1l 248 46 |13 # 95
0 % B 2.36 46 |8 W 95
41 Bm  E 2.30
2/ H 224 TR RBAETSTME (1 A ~128) 25K EORR (REIE) |
3= B 211 | | -BEENA STeE
44| X B 2.10 HERY B
45 /5 I 2.06 CEHA R A ERERAEADSIAE B1BRE)
46| # = Il 206 |
47| = ] 1.48

-85 -



86 FZILBHHEH(AOFALHEY)

g | TR I0 BB A 4 3

(AOFALEY) #
70
) =
481 60 |
1 7.84 5o
2 611 | g :
3 5.72
4 5.63 40 ¢
5 5.62
6 559 | 30
7 550 | cﬁg
8 5.31 00 ;
9 5.22 FHB0 ST 2 3 PR
e 2E B =T
7@ ;E 465
; # 462 —
2 @ P o
s 447 | Z BEE 2 =@
N 2 4.40 F %30 5.51 6.46
= &= 4.39 TFITT 5.10 5.93
7 OW 434 =% 2 418 487
m W 430 | ® S0 3 3.66 453
m#B 4.15 S 4 3.86 4.81
=] 403
= B 4.02 _ _ _
% M 3.98 E_H B oz | R it T
= 3.96 £ HE 3.26
= Il 3.86 1K R 5.64
B |G 2 B E 4.11
i & & 3.81 (AOFAHEY) 3 |%k W 4.10
0 3 W 3.81 3] 21 12 5 2.77
E W 371 | 45 |5 F 1.56
1 ) 360 | = 46 | K 1% 1.41
B 357 _ 47 1% _H _ 135
#* 354 B H NEfz | a8 T2 2 &
Rl 346 | 4 ES 074
B 3.45 11E W 1.09
=] ) 3.44 FEELRAMGERICEDH D 2 |8 iR 1.04
& L4 3.28 XELOEE 3 |5 By 0.94
ERE 327 | D) 42 & B 045 |
w B 3.20 45 |l B 0.33
# ; 2.93 46 (I 0.31
HE 2.88 47 |f& 0.31
7 = 2.88 = &
5 R 2.79 CERHTRT SRS RAE | ABATADE]
i} i 277 | | LR A SH4E
£ % 253 AERY B8
X % 2.52 A FIRIDRA S A QS T4E10A 1 RERE)
= F 225 | B | - Rasgsd ERCBLTREERALEEHOBENS,
o H 2.01 XIEILE(E, A RS A BRI S S,

- 86 -




87 FWliEinimZEE

BRERE 22

IBfL) #PERFE | EIL R EE s60
54.0
(%) || 520
50.0
£ 416 oo
o " 730 o9
2 B B 718 | &| 420
3B iR 71.0 400
A H 67.6 ggg
5 18 H 67.5 340
6= W 664 | 2| 300 |
7| W a 62.0 300 -,
8 & 1% 59.2 :
9| 0 Fr 1 58.8 FRB0 ST 2 3 4 g
1008 X 588 | @ | *~®sE =2 |
1| | 58.3
12| &= B 56.9 —_
3E = 56.3 o
g B 559 | % E ERE z &
= I 2.1 FERL30 422 379
16/t & 55.1 PR30 - :
19| & i 54.4 '%fl] 3 50.1 46.6
20| i ] 54.9 SF 4 48.4 41.6
20k % 54.1 _ _ _
2| & b3l 53.8 H H NEHL| &BE AT IR BREE
23 & & 50.1 ES 36.3
24| % 49.7 118 1R 72.9
25 8 B 488 | & 2 |l 71.8
26/ dt & & 48.6 TRILRER 3 |5 HR 69.0
21 38§ 48.4 D) 24 2 B 469 |
IS 465 | . 45 |Z 40 27.4
2@ 1L 459 | E 46 |% B 26.6
30/ B 45.7 _ 47 | X IR 197
BIER B 455 B H JEfL| #ERFRE | ZEREH
32 # &= I 453 |4 ES 2.09
33| i = 453 11 = 317
“lE G 446 BREMAOFALELY) 2 |m # 2.60
35| i# i 44.2 (M]3 | K [ 243
3 W A 42 | Sitedl 26 & B 192 |
37 & & 439 (iM% FEREHEEL| 45 [B Ik 1.67
KEIR 7 N 424 46 | =B 1.65
39 = Ik 414 47 |15 S 1.59
40| & it 39.9
4R/ = 39.0 AR SRS RE R
42| = E:) 38.6 % GBS SHE
43| 1% S 36.3 RERS BE
EYAR - | 34.4 E Ak BRI L R
45 F =3 33.9
ERE 312 | &
47| X B 26.3

-87 -




